N - e Lt b s | e A R 2017/5/13 | PefE BER
e AT PR e ER GRS B, RN A ] R P B
A R4 ke LR S Rt 4 B
A £+ G {E] 1hz PAVA 30z 4z 5{iL 6L e 8fir
IR #w& 23.66 (+0.4)[iLti E&#E 2421 (+0.4)|85K KE 2431 (+0.2)|1E#E Kth 2443 (+0.4)|BFHE #K 2448 (+0.4)|RH FHZE 2462 (-1.0)| B2 & 24.66 (+0.4)|3RT EhF 24.70 (+0.6)
ST 5H13H 200m it Bt TJR|BAA - th & h TJR|FESE-5HRES TJR|#iH- B g Alls #ik Kz ik IEE =P ik EET
ki B w24.70 (+2.6)
M- RED
5A13H 400m kg B 54.89(3# B 56.57|%& Dz 57.00=8 Kz 57.23|H1L K#E 57.98({kHE Ktb 58.14|:5E &E#k 58.29|/MIl E 58.72
M- RED TJR|F i - # &R HER-ARP #-SHES i HA RS k- AllE #ik Kz i Bt
5A13H 800m M BE 2:08.30|#EE Ml 2:10.70| B7iF  #RIR 2:1306|in7% {GEE 2:14.36| A1 K#E 2:1468|E5)1l H2 2:16.94|fgst & 2:17.48|#E EA 2:18.00
8- £l TJR|#iR- A= FHEEIRED BAMA - h & i HA RS BAMA - p & ik EBER M- RED
5A 13 3000m A FX 9:2558 |8 FH RIE 9:26.75|1kE & 9:39.81|i%8 B3 9:42.64|#AIL &E 9:46.26|1£7k BX 9:46.39|#f £ AMZE 9:55.07|3&:R AKX 9:57.30
ik EBER TJR|#i5- R ES TJR|FTHH =B TJR|FE-FHHEF TJR|#i5 - /Itep i Ri@EH g £l #-SHES
5A 130 L1omH it 3, 15.37 (+0.5) [ K+t #&A 1554 (+0.5)[{EE = 15.70 (+0.5)|FiE &3 16.57 (+0.8)[(AIA EAEA 17.35 (+0.5) (&% R} 17.40 (+0.5)[AIA B&KER 17.57 (+0.5)[#T1L #$0 18.07 (+0.5)
#in-&HAT TJR| - 041 & TJR|#iH - E#ES TJR|# % 3R F TJR|#iR- Kz ik BEHASH #ik- T ik Kzt
iR KR A 46.12(EA - A 46.46 %78 AP 46.51 (%70 FEE—F 46.79(F- HHEPA 47.01 (%5 - /Nt PA 47.09(%r 5 - A ILPA 47.18(%r - LILIHA 47.61
FH —F B8 K Al K AM X¥ NIF SeiE K 3 [22:: e FE B
5HI3H | 4x100mR |ch& Z3} BER Bt % M L A A #zh BER =& EE Rkt WA BX
Al EE BT =E —F B/A BiE N ZF TE K £ 18 1E% A
R HE T BEE EE KiE hnEE Fi =H AT Tk sk fEH X Mt EF
EE mE 1.74|Ed A 171 Bk 1.68| KR & 155\ R =1E 1.50|F% #t 1.50| LIy 28 1.50
5A13H Fr— Jb3d- BB gE TIR[FTFHA - IRIEH TJR| s - &FE P TJR|$1i5 - FriEE i PEE— FFEE- A FFEE- AL
HE &K 1.50
M- AL
B s 3.60(tkHt FEHth 3.10|EHH EEH 280[rR BA 2.70|4E8E =ik 2.50(/h ik KFD 2.30 HAT #518 2.30
5H13H - k-7 TJR|AL - BB e TJR|Frim- BT #E-F)l s Alg db3d- BB gEh s At
N BAE 2.30
s At
5H13H Rk KHE B 5.96 (+0.5)|FEF A& 5.66 (+0.3)| =g 2iE1E 5.65 (+0.6)[KE BN 5.62 (-0.8)|8kiF K3 5.58 (+0.1)|BRiR RE3} 550 (+1.3)|&F = 545 (+1.2)|E+&E KE 5.26 (+1.4)
ik BT TJR|$1i5- IR HF i EH A e REf i B FFE-Rp i AR e &MET
513 = g KH B 11.58 (+1.3)|B9iR RE3} 11.38 (+0.9)|E+E R 11.31 F1LD) [k 15 11.13 (-0.3) =k 10.77 (HL.D)[iED R 1051 (+1.2)| KIE # 1045 (-0.1)|EH BEH 10.32 (+1.6)
i BT FFE-Rp Jb3d- BB gE [ B - R 4P s At faA - S s Tl s At
BA ®BiE 11.00[(%2 & 9.68[85 K &3 945 mAE 9.20(=RE BE 9.15|/NIl HE 8.98(hE EA 8.90
5A 130 L e PEE— TJR|IL5E - e ik R ik HEi g KP G i Bt s At
=gk Ot 8.90
FFE-RPp
5H 130 M =g Ot 32.22(iE B 26.38|HH EAE 25.38(1FE BE 2284 T BEIR 2266 KFER MK 2236|5HF Fth 2233|8%K HME 22.20
FFE-RP M- AL i HEi R -FHtkg FE- A Jb3d- BB gE R -FHtkg FFE- A
5H13H | ventyran— fEik EA 32.13|{E "R $RIR 3063|RE AL 25.60|EF #5I8 2034[®% HEAER 16.86(/Nit KB 15.66
s Alg [ B - R 4P [ B - R 4P s Allg i Kz s Allg
sA130 | AR ax 2069|iEi8 IBMF 1980[18X #th 18353 =L ER 1489| H+ & B 1394| AR RER 1088
i Bt TJR|AL - BB e TJR|BAA - Fh & eh e HEE— [ % B - A HFE- R
5413H 110mH 16.33 (+1.3) 15.93 (+1.3) 17.11 (+1.3) 18.74 (+1.3) 19.46 (+1.3) 19.25 (+1.3)
5H13H AL 11.32 9.10 8.02 8.81 7.66 5.68
54130 Ak 1.35 1.60 1.45 1.45 1.30 1.35
5130 400m 56.90 1:02.15 57.49 1:04.67 1:00.23 1:08.78
. ) BA ®mE 27.14(RE BERE 25.67|fEE &= 21.48|AMH &}k 17.46
e R Ty KL %8l g8
B8 mE 1322 (-08)[2 &KX 1352 (-0.9)[/NHIE KZ 13.62 (+0.3) EiE WX 13.63 (+0.8)|E%H BE= 13.69 (-0.8)|ZE8E £t wi13.73 (+2.1)|/M K M 13.74 (-0.9)
VERT 5A 130 100m - HHESP i EmER - At+ES k-7l Jb38- BB gE i EmER e &MET
FIER S 13.62 (-0.8)
- HHESP
5H 130 1500m ik & 45151|5FME RE 5:09.47|#RiE HiE 5:12.89| KiE 1240 5:12.91|FHi#E K 5:1545|3E #C 5:18.75|/N R KiE 5:19.37| &% &3 5:21.79
i R TJIR| s EiES AER-BERIH ik /et AR-ARS FFE RGP Fin BT 8- B+ ES
e & w1156 (+2.5)|44R X w1161 (+25)| &% & w1181 (+25)|8K KE 11.88 (+1.5)|FE HK w11.89 (+2.5) WA BX wi1.99 +25)|JIIE #EZA 12.05 (+1.5)
ST T 5A 130 100m i R i BTG e PEE a3 IE S TJR[FTFHA - A fL #i8- Eillidh - SHESP TJR
AA MR w11.89 (+2.5)
8- B+ ES
-3t dtmB T | 59 131 1500m wH FE 4:23.91|7ME BE 4:24.23|#R1L FE 4:2479| KR X 4:24.91| %l $RF 4:2582|HE = 4:26.28|1kfkE 18 4:30.19|3%E Rl 4:31.13
e &MAT TJR|Frim- LIl TJR|Frim - hétep TJR| iR EESP TIR[FTHMA - IRIEH TIR[FTHMA - IRIFH TJIR[FrFMA - IRIGH i EER
STin BAE w1155 (+2.7) |34 FZAl wil61 F2.N|IIR #H&E wi11.62 +2.N)|1EHE = 11.68 (+1.7)| Hi#s —i3F wi1.74 2.7 | R 50 11.86 (+1.5)|&HE HE 11.95 (+1.5)[AnAE i 11.98 (+0.6)
S5 T 5A 130 100m BaA - i PEE— i Bt Fin EE TJIR|#iB- Kzeh i Kz Fin BT i EE—
FH R 11.98 (+0.6)
s At

w (wind assist) : 1BEEE




N - L e S | o p A A - 2017/5/13 FHE Pk #On
e AT PR e ER GRS T RN N A R AL BRE
ER il B e B S Bl Bk
B £+ ##H 1A PAVA 3fL LA 54 6L ThE 8fiL
S e 5A 13 200m TR KEE w27.36 (+2.1)|#8)Il EE w2759 (+2.1)[{ER FE w27.76 (+2.1)| K& BFE w27.86 (+2.4)|/NE BT w27.91 (2.4l 2BE w27.96 (+2.1)|FER & 28.15 (+0.9)[{RE FiF w28.31 (+2.4)
R F R ;B FuFR R BEREE) ;BRI R ;B FuFR it SR ;B FuFR ;RN
5A13H soom  |°® TR 228.15|518 BT 2:2086| &) BH 2:30.38|¥AM B 2:30.64| /M2 BEE 2:3106(18% HzY 2:31.33(EH W& 2:31.66| 1A #8 2:32.19
R BEHR TJR|TEHE - FRE T TJR|=&-E—rh Jb3E-EBEE T BRI R - F R BRIt FR-AtES
IWE #85 5:06.21| ARE F*E 5:12.47|#18 WE 5:13.15 B’ BZY 5:1455| 5 =& 5:15.60( Il f&3 5:16.47|h{E #& 5:17.88
5A 130 1500m w8 A+ EH TIR| 8- /Mt eh i BiEE R F R R BER wR-aAFR B8Nt th
H#iE BT 5:13.15
- IRE R
5A 13 L00mE R S 15.46 (-0.2)[FxIL £ 15.56 (-0.2)[{£# HEF 16.09 (-0.2)[#HL /INE 16.25 (-0.2)[/h# BAER 16.31 (-02)[F 5 ££F 16.48 (-0.2)[BE/ K #H 16.63 (+0.5) (#2187 DIF 16.91 (0.0)
;- FluFR TJR|$ii- Tl TJR|$i- Tl TIR|ZE&-HE—rh TIR| B - R Féw TIR|FB- Kz TIR| R - /Mt eh TJR|FH A =G+
- TuRA 51.78|#iif - IRHF A 52.08|# FH -1 < KA 5225(=% -%—h 52.39|#iiR - FBAER 53.15 (%% - =iAPA 53.46#Ti%- TLL+B 53.55|#ik - £l 54.31
INE BT INE BARR ®k %E Fik B AR B8 W WE HE xZ Al %
5A13H | 4x100mR  |#5)I| BB PRI HE P& = *®ik B8 Bz olFx MR EX R & HE BX
MR #ih s B MO E=#& 8N BX A RE &H HE 1£E#k BT )l HEE
Fl & R it Lz il NE TR BEF Bk BX Nix Z P BFE
HH BR 1.35|H1R 15K 1.35| 58 FE 1.30|#H# B 1.30|[RE ZEil 1.30|4E8E KB 1.25
=& -%— HiR-&AH iR FEE T Hin-HER FHRA-FEED Hin-HEHR
sA13E | Ak TEH TR 129
b - BB gEch
WH ¥F 1.25
#E-Fllg
5H138 - %k B8 512 (+1.2)| 2% %KEB 473 0.0)|#2E A% 462 (+0.7)[BE Fik 460 (+1.3)| B4 =& 456 (+1.4)|¥E0 EH 451 (-0.0|#k FE& 450 1.0k BE 447 (+0.8)
=& %% TJR|#-HHS TJR|JL3E- B EEh HiR-&AH iR FEE FHRA-EaKp #Him- R iR TIh
5A 13 o ANl A& 9.73|#iE ME 945[%F Uhf- 9.15(1k#E BE 891[EE HEZE 8.78|R #EXK 841|EH B 832(H)Il HEF 8.22
i BT TJR|FTB - #EF 8- A+ EH AR -FHED iR FEE_h iR £l 3t B iR £l
5A 13 - HNl BEEF 26.89(FH miE 17.55| = HFHX 17.19|5# X4 15.66|BFA FTy 15.15(#2 %7 FKTE 1376|158k IR 12.56(FEH FIF 11.85
- NiERF R ;iR BT BR-FHAG b5 B HHEE-ER AR FHRA-EaKRp BR ARG FHEA- R
BA13H | ey B KE 2538 KFE KRiTF 24.12(R+E REH 2385({REE B 2300(E4E Ex 2078 BHEE 19.90|#4%k FE 1864|R0 Ek 15.40
R EER iR HER ;iR Kgth =& %% HiR- BT Hin-HER ER R Ak HRE - EED
st | s R XX 2289|3[xFH EOF 1955(Ad BX 1883[ILA B 1793 KM RE 1725(E8 % w1698| 7)1l BF 1683| AR B& 1653
iRk T TIR|FB-FEE P TIR|FR - IR FHEm HiR- BT B FRAER #E-FHR It - B &% ZA S
5A13H 100mH 16.08 (+0.2) 17.88 (+0.2) 16.08 (+0.2) 17.20 (+0.2) 17.92 (+0.2) 18.64 (+1.8) 18.05 (+1.8) 17.67 (+0.2)
5H13H Ak 1.46 1.35 1.25 1.20 1.25 1.35 1.20 1.15
5H13A L 8.71 9.22 6.27 8.42 6.93 8.50 7.60 6.22
5H13H 200m 28.88 (+0.8) 29.54 (+0.8) 29.30 (+0.8) 30.03 (+0.8) 29.22 (+0.8) w 31.51 (+3.0) 29.55 (+0.1) 28.67 (+0.8)
Vet | 5A130 oom |E® RE 13.76 (+0.5)|EF & 1427 (+0.5)|HE Bk 14.55 (-0.3)| WLl RZE w14.65 (+2.4)| R8N # T 1467 (+0.5)|E1E B4 14.70 (+0.5)|E548 0 1477 GOD|EH SR w14.93 (+2.4)
HRE A TJR|3#e-HE D iR PEE—h F & % KR FHERA ARG F &% KRS HRE EED BR-FHED
A HET 1297 H.D|[/NE HBF 13.03 (+1.5)[LH L 1310 (1D [FNR ER 13.40 (H.7)|EP EHE 13.41 (+1.7) £k BF w1347 +34)|i@H KM 13.49 (+1.7)
LT 5A 13 L00m 8- FRAE TJR|#HB- Tl TIR|HiR - BF TIR|HFR - Eifit TJR|IL5E-EEEEH TJR ;& T R B - SR M TJR
RS HE 1341 (+1.7)
k- R TJR
Py 5H138 Loom £k BE 13.06 (+1.9)(FFIL & 1322 (+1.9)|FR HHIE 13.23 (H1.9)|#)1 BE 13.30 (+1.9)|{FiE 2 13.33 (+1.9)|F38 HATE 13.49 (+2.0)|3%% F#) 1355 (+1.9)[3RE FiF 13.58 (+2.0)
FHRA-EaKp TJR|#HB- Tl TJR| ¥ - IR HF 4 P TJR|#H- Tl TIR|Z=&-FE—h TIR|FR A+ ET TIR|FIE S Ry HiP iRt

w (wind assist) : 1BEE%




N - L e S | o A A -z 2017/5/13 FHE ek #On
PR Sl TRUBPCT R EREGRRS W 9 T BT A0 AR LRE TR ML B
e R4 ke LEi e Bt 4 s
B £+ ##H 1A PAVA 3fL 44 5fiL 6L L 8L
BT - Loom EAN 1B 13.77 +05) @3 &= 15.08 (+0.5)| &)l #iR 15.24 (+0.5)| Bk S} 1550 (+0.5)(&ME B4 16.16 (-0.5)| R #AKER 16.55 (-0.5)|#[@E 2t 16.56 (-0.5)| gk 122k 16.75 (+0.6)
LIEt=TFC fAI % BFAC LIEf=TFC LIEf=TFC LIEf=TFC LIEf=TFC LIEf=TFC & EFAC
5A 13 1500m i =E 5:42.65|FIED  FABE 6:06.72|[E& =¥ 6:16.49 |k 122k 6:19.04{EDFI FEiK 6:43.87
LIEt=TFC LIEf=TFC frI 2 BFAC frI 2 BFAC LIEf=TFC
5130 | 4x100mR
5H13H Rk E?%‘Jll i 3.89 (+1.2) ﬁi?s 3 3.85 (+1.1)| 5 =E 3.66 (+1.7)[|)I R 3.65 (+1.5)
LIE=TFC LIEt=TFC LIEt=TFC LIEt=TFC
AT 5A 130 100m WA BHE 1433 (+1.0)(2%H BZX 15.04 (+1.0)|7iE TR 15.10 (+1.0)[H%2 X&F 1557 (-1.7)|FIL &8 1559 (-1.7)[ K& #5k 15.78 (+1.0)| =ik = 16.00 (+1.5)|E+jE R 16.07 (-1.7)
MESLZT LIE1=TFC LIE1=TFC LIEf=TFC LIEf=TFC MESLZT LIEf=TFC MED2ZT
5H136 200m E+E RE 2:4554|F 1L 1&BR 2:48 421E7E K3 24917\ AR 2:50.64|BIR #BF 3:13.70| 548 FiRk 3:1847|[HE FIx 3:18.92|/NIE EF 3:22.45
MES1=7 LIE=TFC LIE=TFC MES1=7 LIE=TFC LIE=TFC LIEt=TFC LIEt=TFC
LIEt=TFC 59.93
#mE XE
5130 | 4x100mR |k FH
2% BR
T EHR
5A13R - R HE 387 (+02)|2% BZE 369 (+0.9)[K& #k 341 (+06)|FiE E 3.16 (+0.9)
MED2=7 LIEt=TFC MEDL=T LIEf-TFC

w (wind assist) : IBES%E




